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What is the entropy of a bigram distribution estimated from the following data, in the
standard MLE way (start counting at position 2, i.e., e.g., p2(so,similar) (joint prob.) =
p(so) = 1/8):

# No two numbers are so similar numbers
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Estimate a bigram LM in the standard MLE way from data T (collect counts starting at
position 2):

# No two numbers are so similar numbers

Then compute its cross-entropy against the following data S:
# No two numbers

When computing the cross-entropy, also start at position 2.
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Estimate a trigram LM in the standard MLE way from data T (collect counts \

\
—

starting at position 3): P (Vl() l ‘k\:. %

# # No two numbers are so similar numbers .

Then, compute its cross-entropy against the following data S:
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When computing the cross-entropy, also start at position 3.
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Vyberte jednu z nabizenych mozZnosti:

a. infinity 1 \
« b. 0 X No. ltis true that no two trigrams overlap in data T, but it () ( - \ "'WJ . hM blb\ = O ’)
\ I
only means that entropy of p3 is zero. The cross-entropy “ | /
denepds on the data S and could be (very) different. A 7
/
c. 1/4 (0.25)
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